(1.77)

=k =+ r
H OEH'E O B (FErRK26E£18208)
() &K R (3) ZKGSLAK R (9FF)
(BRI - IEEEFEN) ELER: T.P. 1.02 m
X : BEh (9mp) |ETH: T.P. 0.68 m
xR 1.1°C (9F) |HB & -3.45m (& 35 m3/s) x
= o SCEIIET H YBRIETT,
FERE 0 mm (A7) EBJI50. 2kmibs  KEEHE ST P.+12. 56m
(2) BGKR (RIH) (4) I iEE (5111 1E) (9FF)
B # 17.7
. —_— e |ELyEE|ETHRER
i (ETF kst AR | EORGIE | B | 5050 | 5. km-250m
by 885004 T.P. 0.67m
1985504y T.P. 0.56m tE mg/| 10 %‘gf;’;fﬁ]
BREE ﬁﬁ¢%
T8 285504 T.P.  -1.38m (1511%@41 g mg/ | (] Bty
B = Z
1485304y T.P.  -1.01m T mg/| 12 %‘ﬁ;’;gﬁ
(5) KB IK:R (9FF) *AEQDT—4 (3. ERETHYBRETT.,
R ) EFRAS | BB | AEN
IHE B REBEKIE iR KB HEBXE | RRIIXE | F2XE |[BELXEREXE| B 3] R B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
=EKE | °C 6.5 6. 4 6.5 6. 4 6.0 8.7 9.7 6.5
EEKE | °C - — 6.5 6.3 5.8 9.8 9.7 -—

b H — 7.4 7.4 7.4 7.4 7.4 8.1 - —
%£BDO |mg/l 1.1 10.5 10.7 11.3 10. 1 8.6 9.8 11.2
EEDO |mg/l| -— — 10.7 11.2 10. 1 7.9 7.6] —

cobp |mg/l 2.3 ] — 1.9 20 - —

AE E 3 6 3 2 3 9 — —
BRIEERE | us/on 150 114 - — - — - —
REEARE Ing/1| - — 10 8 9| 13,380 18,360| 7,060
BREEDRE ng/|| - — 14 11 9| 16,740 18,280 —
wEx |mg/l 1.30 1.33 1.15 1.18 1.11 1.30] - —
wyy |mg/l| KA 0. 06 0.07 0. 06 0.05 0.06] -— —
panT nalug/l 0.7 2.9 1.9 1.1 2.0 99.3 3.7 7.8
ND : EETFREXRS
(6) 7 — MEEIKR (9FF)

D~D. @, 5 #—/nN—27O— ®5 =M




(2.7)

= + r
B ' R OR (FEp2651/218)
(1) [IRIRE (3) KGR 5 (9B)
(B - EEERER) ELER T.P. 1.02 m
X % : Eh (oK) |1ETHR : T.P. 0.74 m
S 4.5°C (9BF) | & -3.46m (# 35 m3/s) x
= " NGERIETH Y BRETT,
i fmm  GE ERI50. 2kt R kit SERT. P +12. S6m
(2) BARRE (T H) (4 IERDRE (G (1UE) (95F)
B # 18.7
; Al o |ELFER|ETHRER
#h (T FRKALED) AOKE | BUAILE ) B |5 and50m | 5. 4250
bl 85405 T.P. 0. 72m
2085105 T.P.  0.61m tE | me/l 10| Z TS
BRIRE ﬁw¢%
F 38 005 TP 1.34m|(Efhis| SR | e/ 1] 3 A
JE = :
1485305 TP, -0.78m TE | me/l 12| ZWTO
(6) IKE AR (9FF) *ARDT 413, EHETHYFHETT,
R 18 bk ETAkE | mEN | REN
HH B PN PN BRAE RBAE | RRIIXE | FEBRE [BXRRXE W & wE
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm —0. 5km 8. Tkm
KEKE | °C 7.1 6.9 6.6 6.6 5.9 8.6 9.4 6.9
EEAR | C| - —~ 6.6 6.5 5.7 9.6 9.6 —
pH | — 1.3 1.3 1.4 1.3 1.4 81| - —~
®BDO |mg/I| 110 104 109 112 10.0 9.7 9.5  11.0
EEDO |mg/l| — —~ 10.9  10.9|  10.0 8.1 76 —
coD |mg/l 2.2 1.3 - —~ 2.0 19 - —~
A i3 4 5 2 3 2 5 — —
ERITHEE |us/om 160 14| - —~ — — —~ —~
REEARE Ing/1| - — 9 9 o| 12,480 17,940 8,200
BREEDRE ng/|| - — 13 13 9| 16,360| 18,560 —
wER |mg/l| R 153 113 122l | 134 - —~
Wy |mg/l| &AM 0.09f 007 007 005 005 — —~
yanv4na|ue/l 0.7 1.9 1.6 1.3 2.0 252 2.5 6.6
ND : EETRIEXRM
(6) 77— b R4EIR (98F)
O~@. @. ©5 F—N—20— ®5 £/




(83./7)

=[E + r
B OB M R (FER2651A22H)
(1) [RRKR (3) KGR (9F:F)
(B - EEERER) 'L T.P. 0.96 m
x & 2y (9B) |HETH: TP.  0.5m
S 4.2 °C (9K) | &i: -3.45m (# 35 m3/s) x
= " XGESIETH Y BRIETT .
i —mm @R ERIS0. 2 K5 % AAEAT. P. +12.56m
(2) MtrKiR (RTB) (4) &5 i=E (R 1EY{1U1E) (98F)
A # 19.7
; Al s |ELRER [ETRER
2 (BT FKELED ADIE | BAGE | B |5 050 |5 dkn-250m
bl 95204 T.P. 0. 75m
208205 T.P.  0.50m @ | me/l 1| Zwre
B iRE ﬁw¢%
T 108 TP 1i2m|(Efhis| SR | e/ 12| AR
JE = ;
1585005 T.P.  -0.75m TR | me/l 13| ZWTO
(5) 7K E Kk (9FF) *AROT—4 13, BRMBETHYFHETT,
R 18 bk ETAkE | mEN | REN
HH B SEam FiRKAE HBAE | RRIXE | BFEXE (BERREXH ® ™= wE
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm —0. 5km 8. Tkm
REKE | °C 7.0 7.0 6.5 6.0 6.0 8.2 9.7 6.6
BEKE | Cc| - — 6.5 5.9 5.9 9.6 10.2] -
pH | — 7.3 7.4 7.4 7.3 7.4 8o - —~
£EDO |mg/I| 107 10.2] 109 11.2] 102 9.6 9.5 11.0
EEDO |mg/l| — — 1.0 1.0 10.3 8.3 14 -
cop |me/l 2.5 1.6 — — 2.2 2.3 - —
EE E 3 6 2 3 3 4 - —
ERIRHEE | us/on 156 15— — — — — —~
REEARE Ing/1| - — 8 9 9| 10,260 17,540| 7,200
BREEDRE ng/|| - — 11 13 10[ 15840| 18,620 —
w=x (mg/I|  1.78] 147 114 1.22) 115 129 — —~
@y> |mg/1| 01| 010 007 006 006 005 — —~
yanvsLalug/l 3.0 2.0 1.5 1.1 2.6/  21.8 3.6 7.0
ND : EETRER
(6) 77— ME/EIR (98F)
O~@. ©. 5 F#—nN—78— ®5 £/




(4.7)

=k =+ r
H OEH'E O B (FErRK26E£18238)
() &K R (3) ZKGSLAK R (9FF)
(BRI - IEEEFEN) ELER: T.P. 0.88 m
X : BEh (9mp) |ETH: T.P. 0.37 m
xR 2.3°C (9F) |HB & -3.4Tm (& 30 m3/s) x
= o SOERIETH YBRIETT,
FERE 0 mm (A7) EBJI50. 2kmibs  KEEHE ST P.+12. 56m
(2) BAGLIKR (RIA) (4) IR E (51 WITUIE) (9FF)
B #® 20.7
. —_— e |ELFEE|ETRER
i (ETF kst AR | ERGCE | B |5 n050m | 5. k250
byl Om§304 T.P. 0.57m
2185504  T.P. 0. 24m tE mg/| 12 %‘gf;’;fﬁ]
BREE ﬁw¢%
T8 38504 TP, -1.08m (1511%@41 g mg/ | 18]
B = Z
1685004y T.P.  -0.88m T mg/| 13 %‘ﬁ;’;g}
(5) KB IK:R (9FF) *AEQDT—4 (3. ERETHYBRETT.,
R ) EFRAS | BB | AEN
IHE B REBEKIE iR KB HEBXE | RRIIXE | F2XE |[BELXEREXE| B 3] R B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
=EKkiE | °c 6.8 6.7 6.8 6.2 6. 1 7.9 9.2 6.6
IEEKE | °C - — 6.7 6.2 5.9 9.9 9.4/ -—

b H — 7.3 7.3 7.4 7.4 7.4 8.2 ~— —
£EDO |mg/l 10. 8 10. 1 10. 8 11.1 10.2 10.0 9.4 10.5
EEDO |mg/l| -— — 10.9 11.0 10.3 7.7 7.4 —

coD |mg/l 2.4 1.7 - — 2.2 2.4 — —

AE E 3 6 4 2 3 5 — —
TSATEE | uS/om 163 121 - — - — - —
REEARE Ing/1| - — 4 8 10[  9,860| 17,680 7,160
BREEDRE ng/|| - — 13 11 11| 17,180 18,080 —
wEx |mg/l 1.81 1.47 1.21 1.21 1.17 1.30] - —
wy>  |mg/l 0.11 0.10 0.07 0.06 0.06 0.07 - —
panT nalug/l 3.0 2.1 2.0 1.2 2.4 37.1 2.5 5.6
ND : EETFREXRS
(6) 7 — MEEIKR (9FF)

D~D. @, 5 #—/nN—27O— ®5 =M




(56./7)

=[E + r
B OB M R (FER2651A24H)
(1) [RRKR (3) KGR (9F:F)
(B - EEERER) 'L T.P. 0.85 m
X & : Eh (oF) [ETH T.P. 0.27 m
S 1.7°C (9K) | &i: -3.49m (# 30 m3/s) x
= " XGESIETH Y BRIETT .
i ~mm  (#A) ERIS0. 2 K5 % AAEAT. P. +12.56m
(2) MtrKiR (RTB) (4) &5 i=E (R 1EY{1U1E) (98F)
A # 21.7
; Al s |ELRER [ETRER
2 (BT FKELED AOIE | BAGE | B |5 050 |5 dkn-250m
bl 9B540%  T.P. 0. 48m
208305 TP 0.17m @ | me/l 12| ZWTO
B iRE ﬁw¢%
T 4108 TP -0.04m| (Rihis| SR | e/ 13] = A
JE = ;
168405 T.P.  -0.85m TR | me/l 13| ZWTO
(5) 7K E Kk (9FF) *AROT—4 13, BRMBETHYFHETT,
R 18 bk ETAkE | mEN | REN
HH B SEam FiRKAE HBAE | RRIXE | BFEXE (BERREXH ® ™= wE
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm —0. 5km 8. Tkm
REKE | °C 7.0 7.0 6.8 6.3 6.1 8.0 9.2 1.2
BEKE | Cc| - — 6.8 6.3 6.0  10.0 9.6 -
pH | — 7.3 7.4 7.4 7.4 7.4 82 - —~
£BDO |mg/I| 10.7| 10.6] 10.6] 1.2 10.2] 117 9.7 10.5
EEDO |mg/l| — — 0.7 11.1]  10.3 1.7 11 -
cop |me/l 2.4 1.6 — — 2.3 2.5 - —
EE E 3 5 3 3 3 5[ — —
ERIRHEE | us/on 166 19| - — — — — —~
REEARE Ing/1| - — 6 8 10[ 10,160| 16,220 9,240
BREEDRE ng/|| - — 13 11 11| 17,460| 17,860 —
w=x (mg/I|  1.72) 146 117) 124 119 132 — —~
wy> |mg/1|  om| 011 o008 007 006 007 — —~
yanvsLalug/l 2.9 2.0 2.1 1.1 2.8  22.8 2.7 5.5
ND : EETRER
(6) 77— ME/EIR (98F)
O~@. ©. 5 F#—nN—78— ®5 £/




(6.77)

=[E + r
B ' R OR (FER265F1H258)
(1) [IRIRE (3) KB ARR (9FF)
(B - EEERER) ELER T.P. 0.84 m
X % : Eh (oK) |1ETHR : T.P. 0.10 m
S 4.0°C (9K) | &i: -3.50 m (%5 30 m3/s) x
= " SNGRRIET B Y BBETT,
i ~mm  (#A) ERI50. 2kt R kit SERT. P +12. S6m
(2) BARRE (T H) (4 IERDRE (G (1UE) (95F)
B # 22.7
; Al o |ELFER|ETHRER
#h (T FRKALED) AOE | BAILE ) B |5 nd50m | 5. 4250
bl 108§504>  T.P. 0. 44m
- TP, - tE | me/l 12| ZWTO
BRIRE ﬁw¢%
T34 WS08 TP 0.Tim| (Richis| SR | e/ 13|
JE = :
1784505 T.P.  -0.72m TE | me/l 14| ZWTO
(6) IKE AR (9FF) *ARDT 413, EHETHYFHETT,
R 18 bk ETAkE | mEN | REN
HH B PN PN BRAE RBAE | RRIIXE | FEBRE [BXRRXE W & wE
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm —0. 5km 8. Tkm
KEKE | °C 8.1 1.6 7.1 6.5 6.1 8.7 9.7 7.9
EEAKE | C| - — 7.1 6.5 5.9 9.9 10.1] -
pH | — 7.2 1.3 7.3 7.4 1.4 82| - —
®®BDO |mg/I| 105 102 108 11.0] 10.1|  11.5]  10.8]  10.6
EEDO |mg/I| — — 10.8)  10.9|  10.2 8.0 89| -
coD |mg/l 2.7 1.5 - —~ 2.1 29| - —~
A E 4 5 2 3 3 5[ — —
ERATHEEE |1/on 177 1271 - —~ - - -~ -~
REEARE Ing/1| - — 10 8 11| 11,860 16,420 10,920
BREEDRE ng/|| - — 14 12 11| 17,320[ 17,620 —
WER (mg/l| XA 1.51  1.14] 1.2 119 150 - —~
@wy> |mg/I| 013 011|008 o008 006 007 - —
yanv nalug/l 3.4 1.9 1.8 1.4 3.5 332 2.2 118
ND : EETRIEXRM
(6) 77— HRAEIN (9BF)
O~@. @. ©5 F—N—20— ®5 £/




(7.77)

=k =+ r
H OEH'E O B (ErR26E18268)
() &K R (3) ZKGSLAK R (9FF)
(BRI - IEEEFEN) ELER: T.P. 0.88 m
x B £2Y (o) |ETH: TP.  -0.01m
xR 9.2°C (9F) |HB & 3.4 m (B 35 m3/s) x
= » SCRBIETH Y BBIETT,
FERE 2 mm (A7) EBJI50. 2kmibs  KEEHE ST P.+12. 56m
(2) BAGLIKR (RIA) (4) IR E (51 WITUIE) (9FF)
A # 23.7
. . v |ELTER|ETHRER
# (ETFHRAKEED AOE | BRAGE | B |5 gcme250m |5, 4kn250m
prgl 0B§104> T.P. 0.09m
1185504 T.P. 0.43m tE mg/| 1 %‘gf;’;fﬁ]
EREE ﬁw¢%
T3 55104y T.P. 0. 46m (i;i«éer)m thE mg/| 13] = A
B = Z
1885504y T.P.  -0.71m T mg/| 13 %‘ﬁ;’;g}
(5) KB IK:R (9FF) *AEQDT—4 (3. ERETHYBRETT.,
R 18 bk EFokE | mEN | kw
IHE B REBEKIE iR KB HEBXE | RRIIXE | F2XE |[BELXEREXE| B 3] R B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
*£EKE | C 9.0 8.6 7.7 6.9 6.3 9.6 10.3 8.6
EEKE | °c — - 7.7 6.9 6.0 10.0 10.4] —

b H — 7.2 7.3 7.2 7.3 7.4 8.1l - —
%£EDO |mg/l 10. 5 10. 1 10. 5 10. 8 10. 1 10. 4 11.2 10. 1
EEDO |mg/l| — — 10. 6 10.7 10. 2 8.6 9.3] -

cop |mg/l 2.4 1.5/ — — 2.2 1.9 -— —

AE E 3 6 2 3 2 5 — —
ERATELE |1 s/om 160 149 — — - — - —
REEARE Ing/1| - — 10 8 11| 15,340| 17,600 13,520
BREEDRE ng/|| - — 15 12 11| 17,040 17,700 —
wExR [mg/ 1.83 1.51 1.18 1.25 1.19 1.31] - —
wy>  |mg/l 0.13 0.13 0.08 0.08 0.06 0.04f — —
sonvcnalugl 2.6 1.8 1.7 1.7 3.7 45.2 2.5 8.8
ND : EETFREXRS
(6) 7 — MEEIKR (9FF)

D~D. @, 5 #—/nN—27O— ®5 =M




